© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

46062203 HANSAPICO - Wastafelkraan

EAN: 4015474238046

static.hansa.com/46062203

Reserveonderdelen
SP46042203
Naam Code

1 Hendel Chroom 59913678
11 Schroef, M5x8, SW2.5 59904755
13 Sierdop Grijs 59912112

2 Kap, 33x3 mm Chroom 59912504
3 Schroefring, M40x1 1003409V
4 Binnenwerk, 3.5 Eco 59912324
4 Binnenwerk, 3.5 Classic 59913075
41 Temperature adjustment limiter 59912325

43 0-ring, d 2824x2.62 59912590
b 0-ring, d 10.10x1.60 59905072
5.1 Trekstang 59913214

52 Gewrichtstuk 59904624
53 Wasser 59914591

55 Fixing plate 59904765
5.6 Schroef, M8x1, SW13 59904766
57 Bevestigingsset 59912113

58 Flexibele aansluitingen, L=430, G3/8-M10x1 RH 59913213

5.9 Flexibele aansluitingen, L=430, G3/8-M10x1 59912515

510 0-ring, d 7.65x1.78 59902337
51 Dichting, 9.5x14.4x2 59912551

512 Bevestigingsschroeven, M8x1, L=140 59912474

6 Mousseur, M24x1, 6 L/min Chroom 59913727

7 Wastegarnituur Chroom 59904620
N.I. Sleutel, SW30/34 59912108

1


https://static.hansa.com/46062203

